Fluency 15 7th Jan.notebook January 05, 2021

Fluency Fifteen (7121 )

Place Value

1. What is the value of the underlined digit? 9032
2. What is the value of the 6 in 34.67

3. Use the symbols < > or = to make this correct.

45 +9 28 +7
4. Put these weights in descending order:
890g 89kg 89 908g

. What is 30 more than 12857
. Round 9284 to the nearest ten

. Round 1074 to the nearest thousand

0o N O O,

. What number is the arrow pointing to?
I I I I I i I
438 | | I | I | 0
9. Complete the sequence: 1123, , 1323, 1423, ,
10. Write down an odd number between 175 and 185
11. Write the number 4098 in words
12. Write LXXVII in digits
13. Calculate 6903 + 2185
14. Find 7845 less than 9961

15. Find the difference between 546 and 1972
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